Math 1211: Worksheet #4 Winter 2016

Name: \@ I A | Section:

L. Decide whether the following improper integrals converge or diverge. If an integral con-
verges, find its value.
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3. Use comparison to decide whether —
. VEEt D) converges or diverges.
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Math 1211: Worksheet #4 Winter 2016

Name: SoLWToMS A Section:

1. Decide whether the following improper integrals converge or diverge. If an integral con-
verges, find its value.
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2. (a) Determine f TS dzx
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(b) Use (a) to compute f =16 dz. [Hint: First combine all logarithmic terms.]
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3. Use comparison to decide whether / converges or diverges.
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